6611, SOLUTION, SSC CHSL

Ques 1. ANS (D) Solution:

The meaning of the given idiom 'Let sleeping dogs lie' is
'to ignore a problem because trying to deal with it could
cause an even more difficult situation'.

Examples,

| thought about bringing up my concerns but decided
instead to let sleeping dogs lie.

If he hasn't said anything about the incident, just let
sleeping dogs lie.

"To avoid restarting a conflict' means 'to ignore a
problem in order to avoid bringing up the conflict once
again'.

Therefore, according to the explanation and examples
that are given above, option (D) is the correct answer.
Ques 2. ANS (A) Solution:

The meaning of the given idiom 'cut to the chase' is 'to
reach the most important points quickly.'

Examples,

I'm a very busy woman, so | need an assistant who can
cut to the chase.

After a few introductory comments, we cut to the chase
and began negotiating.

'To reach the most important points quickly' means to
avoid talking about unnecessary things and focus on
what is important.

Ques 3. ANS (C) Solution:

A group of stars that make a pattern- Constellation
'Constellation’ is a group of stars forming a recognizable
pattern that is traditionally named after its apparent
form.

Example: People can use the figure shaped by a
constellation to recognize specific stars.

Ques 4. ANS (C) Solution:

The original sentence is erroneous.

Reason: The word 'subscribe’ must be followed the
preposition ‘to” instead of ‘in" in this context. The
expression “subscribe to” means ‘accept or believe in'.
Hence 'to’ should be used in place of ‘in’ to make the
sentence grammatically and contextually correct.
Among the given choices, only option (C) replaces the
given bold part most appropriately.

The sentence after replacement becomes:

Those who willingly join terrorist organizations subscribe
to the distorted views of ill-intentioned religious leaders.
Ques 5. ANS (D) Solution:

Nurturing : care for and protect (someone or something)
while they are growing.

Fostering : encourage the development of (something,
especially something desirable).

Argument : an exchange of diverging or opposite views,
typically a heated or angry one.

Neglecting : fail to care for properly.

Ignoring : refuse to take notice of or acknowledge;
disregard intentionally.

The option that is same in meaning to the word
'FOSTERING' is 'Nurturing'.

Ques 6. ANS (D) Solution:

The word 'quandery' has been incorrectly spelled in the
given sentence.

The correct spelling and its meaning has been listed
below:

Quandary: A state of perplexity or uncertainty over what
to do in a difficult situation.

Example: I'm in a quandary about whether | should try to
repair my stereo or buy a new one, even though | don't
have the money to do either.

Ques 7. ANS (C) Solution:

The word 'mercantile’ is the correct word in the context
of the sentence.

The word means relating to trade or commerce;
commercial. It is very clear from the extended
description of the market that the word is the only word
which can be used in the context of the sentence.

The other words mean:

Dream - a series of thoughts, images, and sensations
occurring in a person's mind during sleep

Janitor - a caretaker or doorkeeper of a building.
Percentile - each of the 100 equal groups into which a
population can be divided according to the distribution
of values of a particular variable.

Ques 8. ANS (D) Solution:

The word 'node’ means a point in a network or diagram
at which lines or pathways intersect or branch.

In the context of the sentence, the word can be taken to
mean as the central point of a place where different
'strands' met.

Mode - a way or manner in which something occurs or is
experienced, expressed, or done.

The words 'fashion' and 'means' are synonyms of 'mode".
Ques 9. ANS (B) Solution:

Among the different forms of the word 'disappear’ given
in the options, the correct form of the word in the
context of the sentence is 'disappeared'.

This is made certain by the use of the word 'appeared' in
the previous part of the sentence.

Ques 10. ANS (C) Solution:

Among the given options, the correct word should be
'adjoining’. It means (of a building, room, or piece of
land) next to or joined with.

In the context of the sentence, none of the other words
can be used.

The other words mean:

Imposed - force (an unwelcome decision or ruling) on
someone.




Pretended - not genuine; assumed.

Driving - (of rain or snow) blown by the wind with great
force.

Ques 11. ANS (A) Solution:

Among the given options, the only one that can correctly
be used in the context of the sentence is 'sure'.

The word means certain to receive, get, or do something.
Even 'surely' cannot be used in the sentence because
that would make the sentence grammatically wrong.
Ques 12. ANS (D) Solution:

It is a common saying that beauty lies in the eyes of the
beholder.

Beholder means a person who sees or observes
someone or something.

Meaning of other words:

Demeanour means outward appearance.

Onlooker means a passerby who is witnessing a certain
event.

Catcher means a person or thing that catches something.
Ques 13. ANS (D) Solution:

'Glance' means to give a quick look.

Meanings of the other words:

Gnaw means to bite at or nibble something persistently.
Glow means to shine.

Gleam means to be very happy and ecstatic.

The correct statement is: "l glanced at the candle but
could not stop my gaze from sliding back to him".
Ques 14. ANS (B) Solution:

(E) should be the introductory part of the sentence as it
mentions the subject i.e,, 'tokenization’. A noun
answering the question ‘what is taken' is required after
(E). It is mentioned in the part (A).

The part (B) should follow (A) because it has a noun
which qualifies the adjective 'next’. (CD) is an essential
pair because it has the structure 'something has to be
replaced with something'.

Ques 15. ANS (A) Solution:

The above-given sentence is in the active voice.

We need to change it in the passive voice.

The following steps are required to change the given
sentence into passive voice:

In the passive form, the subject and the object will be
interchanged. 'It' will become the subject.

The tense(simple past tense) will change according to
the following structure:-

Active Voice - Subject + did + V; or V, + Object.
Passive Voice - Object + was/were + V3 + by + Object.
Option (B) and (D) are in the present tense.

Option (C) is in the past continuous tense.

Ques 16. ANS (A) Solution:

Before, trade started to grow internationally; it must have
started in its basic form as selling of goods from one
person to another. Hence B would come before D.
Thus, B is the opening sentence followed by D.

When trade grew to involve different lands then
merchants would grow rich, So, A should be the next
sentence.

The last sentence left is C.

Therefore, the correct sequence should be "BDAC.”
Thus, the correct complete paragraph is, "Trade started
from person to person but grew to involve different
towns in different lands. People found work in
transporting the goods or selling them. Merchants soon
grew rich as the demand for products increased.
Eventually, people got a greater variety of things to
choose from."

Ques 17. ANS (D) Solution:

Banal means boring and lacking originality.

Exciting means interesting.

So, 'banal’ and 'exciting' are antonyms.

Meaning of other words:

Humdrum means boring

Monotonous means boring.

Tedious means too long, slow, or dull; tiresome or
monotonous.

Ques 18. ANS (A) Solution:

Someone who runs away from the law is a fugitive.
Fugitive: A person who is running away or hiding from
the police or a dangerous situation.

For example:

Thousands of fugitives are fleeing from the war-torn
area.

Butch Cassidy and the Sundance Kid were fugitives from
justice.

Ques 19. ANS (B) Solution:

The word "there" refers to a place, "their" means
belonging to, or associated with, a group of people.
Here, “their” should be used in place of there.

The correct sentence- 400 million people speak English
as their first language.

Ques 20. ANS (D) Solution:

Beautifull is the misspelled word for Beautiful.
Beautifull will be Beautiful.

Beautiful means pleasing the senses or mind
aesthetically.

Example: When the world seems upside down, it's good
to work toward something beautiful.

Ques 21. ANS (B) Solution:

In the above given sentence, 'between’ will be replaced
by 'among'.

'Between' can be used for any number of elements as
long as the elements are separate or distinct.

For Example - Negotiations between the member states
collapsed last night.

'Among' is used when talking about people or things
that are not distinct and are viewed as a group.

For Example -There wasn't much unity among the
council members.




Here the students are more than two in number (i.e. they
represent a group) so the word 'between’ will not be
used not used and since 'the students' in the given
sentence are a part of a class of people so the word
‘among' should be used here.

The distinction between the two words can be illustrated
with the help of the following examples:

She divided her fortune equally among her four children.
The candies were shared equally between me and my
brother.

Thus the correct sentence is: Encouraging healthy
competition among the students of the school was one
of the objectives of the annual sports day.

Ques 22. ANS (A) Solution:

Correct sentence: When | met Ram yesterday, it was the
first time | met him since my graduation.

The first part of the given sentence is in the Past Tense.
Since the principal clause of the sentence is in the past
tense, the following clause will also be in the past tense.
For example: When | went for the interview on Monday, |
saw Kiya for the first time since my college.

So, 'met' is the appropriate word to be used.

Ques 23. ANS (A) Solution:

The word 'Persist' means to continue to exist.

Let's see the meaning of other given options:

'Cease' means to stop or end.

'Demur' means the action of objecting to or hesitating
over something.

'Falter' means to lose strength or momentum.
'‘Dismantle’ means to take something to pieces; to
separate something into the parts it is made from.

Ques 24. ANS (D) Solution:

If something is abhorrent to you, you dislike it very
much, usually because you think it is immoral.

Appalling means very disgusting.

So, 'abhorrent' and 'appalling' are synonyms.

Meaning of other words:

Accentuate means to make more prominent.

Abusive means extremely offensive and insulting.

Attraction means the action or power of evoking interest.

Ques 25. ANS (A) Solution:

The correct answer is:

Rudra said that he had joined computer classes.

The given sentence is in present perfect tense as
indicated by the words 'have joined'. So, the indirect
form will be in past perfect tense. In indirect form, 'l
changes to second person pronoun. In this case it will be
'he'.

Option (B) is present continuous form.

Option (C) is in past tense.

Option (D) is in simple present tense.

Ques 26. ANS (C) Solution:

T &t RN (3) SIR (4) BT T |, FifP 2 $iR 3 IAFE

]

Taking Dice position (3) and (4), as 2 and 3 are common;
Q)

IR @ fRUf (3) H Qv T 4 B

g fRUfd (4) W QW T 181

YT, 1 3R 4 faudid S g B
Zfg, el I "1 B

The remaining number in Dice position (3) is 4.
The remaining number in Dice position (4) is 1.
So, 1 and 4 are opposite number pairs.
So, "1" is the correct answer.

Ques 27. ANS (D) Solution:

e Hh Y HT Tgl HH B,

3. Queen

4. Queue

1. Quilt

2. Quite

Ques 28. ANS (B) Solution:

& Teft e &1 adieT ©:

=8=2°

=>7°=2+4°

=288=2"+4+6
?2=2+4+6+8

= ? =800
=1800=2"+4>+6>+ 8%+ 10°
=3528=22+4+6"+8+10° + 12°
gqfery, faqu Tver 800 §1

Ques 29. ANS (C) Solution:

gl 3uRd db 39 UHR &:

The logic follows here is:
CROCTI N

RCTX NI
I e

Similarly;
S I GNAL

Xﬁ %

A

I SL I LA
Hence, the correct option is (C).
Ques 30. ANS (A) Solution:
TR 3T T e 9 YR &

The pattern followed is:

G OA T
3 +2] -2 +3

-5

-5

D QY W
4l UK,




Similarly,
T RE S

-3

Q TCV

Ques 31. ANS (C) Solution:
feuT®: 483 D23 A93 C 16 B 4C (158 2)

+2| -2| +3

frafafed el 1 afdwrie o,
HER A B G D
ared + X - =

483 D23A93C16B4C (15B2) — 483 + 23 + 93 - 16 x
4-(15 x 2)
=483 +23+93-16x4-30
=21+93-16x4-30
=21+93-64-30
=114 - 64 - 30
=50-30
=20
T, 20 W1 IR G|
Ques 32. ANS (D) Solution:
T Ao & safda &t acdam Mg x a9 g
10 a9 gg,
fad I 3 (x - 10) T At
10 9Y g,
?ﬂﬁaﬁ&ﬁﬁ(x+ 10)a'EfE»ﬁTﬁ
Y & 3FINR:
125% &1 (z — 10) = 835 % ¥ (z + 10)
= (12)(z — 10) = (22)(z + 10)
= (3)(z — 10) = (2)(z + 10)
(z—10) (z4-10)

4 6
= 6(x - 10) = 4(x + 10)

= 6x - 60 =4x + 40

= 6x-4x =40 + 60

= 2x=100

= x = 100/2 =50

. Sfad P IHH 3y 50 aY ]
Ques 33. ANS (B) Solution:
AR 3R,

The diagram according to the question,

ST
l
T

[ &
=)

IUYdd 3R P AR, TR F fed X BT Urr 8|
Therefore, from the above family tree, the person in the
photograph is the grandson of X.

Ques 34. ANS (B) Solution:

3fic 1 Hig & I1& 7 aral Yo

resembles the pattern formed after folding the sheet.

4

ol feaaT &
f&Gie arell uRGRff 2he & Bifedn #, FHewfer fFdiear a8
g P1 GUUT & U H 7T S Fehal 81 o, URERI e Bl
gﬁ%aﬁ, &Y i & gusl R fEwg &t gdur 3fa

I
f3re TR it 1 ST T4 § 3 R b1 [SHIg Sl 8
3T B IR 3R d8 B & ale off It ave W e g,
Fiife e uRe= g
31 e faped (a) B
In the folding of the transparent sheet having design, the
vertical dotted folding line can be considered as a mirror.
So, after folding the transparent sheet, we will get the
mirror image of the design on the other side of the
sheet.
Design on the side toward which the sheet is folded will
remain as it is and will be visible fully even after folding,
as the sheet is transparent.
Hence, the correct option is (A).
Ques 35. ANS (B) Solution:
fau U Byl & fore gaay Turfad 99 S 39 UHR B
The least possible Venn diagram for the given
statements is as follows.

e

1) quft 5 TER B 9Hhd § — I (G g9 3/ & b T8
fRufq Tya g)

2) TS R §E Tol § — T (TP AR U Hdd &
TER s e & U8 Feapd T 81 9 ©)

3) FB IE Gl § — 3T (I8 IHa g Al a7 %)
SYICTT el I 1 3R 2 AT 3FIIRUI HRd & |
Conclusions:

1) All shut can be town — True (as we see it is the
possible case)

2) Some town is not shut — True (As we have only a few
town is shut this conclusion becomes true)

3) Some Shut is Open — False (It is possible but not
definite)

So, the correct answer is both conclusion 1 and 2 follows.
Ques 36. ANS (A) Solution:

fear g,

7x116+4-17+5=200+4x4-75<+5

&Y firem a1 Tobdl &l RER FeaH I




BODMAS & U1 ¥ 88 U 8l 8,

famed (A):
7x116+4-17+5=200=4x4-75+5
LHS:

7 x 116 = 4 + 17 - 5 (81 B MUY H Teaw)
=7x29+17-5

=203 +17-5

=220-5

=215

RHS:

2004 x4+75+5

=50 x4+ 15

=200 + 15

=215

Ques 37. ANS (B) Solution:

-1=7

3*-1)=26

@ -1 =63

(5°-1) =124

6> - 1) =215

(7% - 1) =342

Zfee, g ug (8% - 1) = 511 ]|

Ques 38. ANS (C) Solution:

w?%?mrrsnff, FLOWERS &1 OLFSREW & =4 ¥ forar
WIIdl g,

In a code language, FLOWERS is written as OLFSREW.
FLOWERS

OLFSREW
24l dRE, INCLUDE &Y CNIEDUL & ¥U ¥ forar Sirar g1

Similarly, INCLUDE is written as CNIEDUL.
I NCL UDE

CNIEDUL
39T, CNIEDUL Tgl SR 8
3 faped (o) T B
So, CNIEDUL is the correct answer.
Ques 39. ANS (B) Solution:

3 TS 3nepfa o1 gUur B3 A e mar @:

The mirror image of the given figure is given below:

RGBGBPEqSBEIDH

M
Ques 40. ANS (C) Solution:

&1 1T 3 -
N5V, K7T, ?, E14P, B19N
SITERYT o Tt Te e fau e fot & foaman ma g-

The series given is-

N5V, K7T, ?, E14P, B19N
The pattern followed is shown in the figure below-

N2k ‘3-@ NN

52,7 ”. 41422519

_sz =2 @ —2'P _2'N

vV >

fory 9, 59 <W &hd & o5 7' & RIM W H10R ST
From the figure, we can see that H10R will come in place
of 7",

Ques 41. ANS (B) Solution:

praaymasrasy

A

ST, 3T (2) 7 SMPT (X) 4T &

So, figure (2) contains figure (X) as its part.
Ques 42. ANS (B) Solution:

fear T g eERuI g 8 x 4+ 5+ 2 -1 = 11
TSP fddhed BT 3ddihd B WX,

A. x 3R + Pl FGa R
JHAROI G 8 + 4 x5=2-1=17% 11
B. x 3R + &I §ga W
JHAROT SN, 8 < 4+ 5x2-1 =11
c.mﬁvaﬁmﬁw

BT TN, 8 x 4-5 =2 + 1 =305# 11
D.+3‘ﬁT-ﬁWﬁW

BRI SN, 8 x 4 +5-2 + 1 =35% 11
MU x 3R +, B g4 W, BH el IR UT gia1 g

Ques 43. ANS (D) Solution:

el :
gl T-AT x (Ugal AT + 1) = GERI AT
fddbed (A): 9: 90
3, TP BT SR B W
9x(9+1)=9x 10 =90 = &I T=AT
Tg faded WY BT IR0 ST 5 |
fddbed (B): 7:56
7x(7+1)=7x8=56=ga G-
Tg faded WY BT IR0 ST 5 |
fd®ed (©): 5:30
5x (5+1)=5x6=30 = &I G
Tg faded W& BT IR0 Sl 5 |
fddbed (D): 8:66
8 x (8+1)=8x9=72 Gadl I&A
T8 fad ey WY BT SR T& Rl B
Zqferg, i "8 - 66" fawA B
Ques 44. ANS (B) Solution:

3R AL G UNIG = aTet ATl b TReT !
Y 3R g0 o IHTAE TReam gRT wefRia fosar S gear
g o f& 19
The number of people who like billiards and chess can
be represented by the numbers common to the triangle
and the circle, Such numbers are 19.
Ques 45. ANS (B) Solution:




?%? HTYT H, INDICATOR &I JOEJBCVQT & &4 H foran

g P USSR 3HeR ed &b AT 3HeR HI A ¢, Ued P
T &R e & MU &R BT od § 3R Weg & 3ifad
IR &R e P YD 3R | 2 e g
In a code language, INDICATOR is written as JOEJBCVQT.
First four letter of the word take next letter of the word,
middle letter of the word take previous letter of the word
and last four word letter of the word take add 2 in each
letter of the word.

I N D I c A T o R

+#1]| +1] +1| +1| -1 +2| +2| +2| +2

J o E ] B C Vv Q T

3! ARG, EMOTIONAL &I 39 4 H ferar S a1y
Similarly, EMOTIONAL be written as:

EM OT I O N A L
+1\ +1\ H\ +1| -1 +#2| +2| +2| 42

F P € N
EMOTIONAL &Y FNPUHQPCN & =0 & forar a1 g |

3d: faped (B) TEI B

EMOTIONAL is written as FNPUHQPCN.
Ques 46. ANS (B) Solution:

44 -11+2x6+6+2-12

g Ui T TRINT & §U, BH U HRd &
44 +11x2-6%x6+2+12

=44 +22-36+2+12

=66 - 18 + 12

= 60

Ques 47. ANS (B) Solution:
1600+300+74 TG &1

1600 I8 # T v f&1 g1 ]

300 99 H, T fawHq iR giar &1

74981 B, 18 g oy 3R 56 AT 99 BId &, Sfere fawy
f&a e

18(2) + 56(1) = 36 + 56 = 92

Sl 13 I@re 3R 1 fawa e 8 2

SHaRY 1975 & 25 e § 3 Iwrg 3R 4 fAyw feA g €1
pafovafga=0+1+1+4

e favy faT 9, sufoe a8 wfar ol
Ques 48. ANS (A) Solution:

AHfA & TS foig &l Fifgd HA & T

After marking each point of the figure:
A B e

L B

3fa & @it 1)QP, JKLQ, QLMN, PQNO, ABQH, BCDQ,
QDEF, HQFG, IKMO, ACEG |

N, o ! e WSAT = 10

The squares in the figure are 1JQP, JKLQ, QLMN, PQNO,
ABQH, BCDQ, QDEF, HQFG, IKMO, ACEG.

So, the total number of squares = 10

Ques 49. ANS (A) Solution:

& 1S TPl BT ! SUT B © ST aU0 B Gt SR 7@
Gﬂ?ﬂ%:

The correct mirror image of the given figure when the
mirror is held at the right side is:

MT3BSC5[ 28028ETM

Ques 50. ANS (C) Solution:

<1 7T 4 &-

Q1F, S2E, U6D, W21C, ?

SR foa Tt Ye e fou e fort # faman wa g -
The series given is-

Q1F, S2E, U6D, W21C, ?

The pattern followed is shown in the figure below-

Q +2'S +2-U +2-W +2'®
1 :-:1+1.2 :-:2+2'6 :-.'3+3'2_1 :-:4+d'

E _1'E _1rD —‘Irc —‘Ir

Ques 51. ANS (D) Solution:

A feT T 99 Bt YTl ‘2’ SHTS 5

Let the side of the given cube is 'a’ unit.

A F
o0 v

{5 LG

C H
g9 P YTl = CH = HG = FG = a ST
CHGH,
= CG’°= CH? + HG® = a° + a° = 2a°
39, CGF #,
= CF%= CG* + FG* = 2a° + a° = 3a°
Y &1 fdPhUi= CF = a 3 3PS
l=a3 3PI8
a=I/33b7%
TSI H BE YN I B,
T BT THU-UET 8% d = 6a° = 6 /(1/3) = 2I°

Ques 52. ANS (C) Solution:

faar &:

a*+4a’+16a° + 64a = 1

ITUTAT:

at+4a° + 16a° + 64a =1 .. (i)

GHI efl & FHIHR1 Bl 4/a J TON A R,
= 4a° + 16a° + 64a + 256 = 4/a ... (ii)
JHIB (i) 3R (i) DT oM W,

= a’ - 256 =1 - (4/a)
=a’+ (4/a) = 1+ 256




= 257
Ques 53. ANS (C) Solution:

<1 I8 BT el BT a1 BT SFUIT = x - 2x : 3x
TAWHA R P,

A BT T = 4/3 xr°

TR,
:—43 X T X :.1‘."1—!— [_3.1‘.‘_]:" 1+ |':3.I?']3: — i, X T % 6
= 3 8x% 4+ 2723 = 216
= 362° = 216
= r2—=6
.z = v/6

@gﬁwwﬁ%s{amﬁwmmm S e 2
36

Ques 54. ANS (C) Solution:

332 x 18 + 27 + 8%+ 122 = 2° - 368
BODMAS 0¥ &1 UIaq &’A WR;
1089 x 18/27 + 512 + 122 + 368 =7°
726 + 512 + 122 + 368 =?°
1728 = ?°

2=12

Ques 55. ANS (A) Solution:

fean g,

fed gr feram a1 99 = 36 faq
e gy foran 7 oy = 24 feq
ST &I THaTy BT guf B B @ 98 = 72/5 oA

IUTAT:
Afed SR AT gRT oy 71U W0 &7 3iurd = 36: 24 7 3:

2
RAfed SR AT BT &l BT U = 2: 3

R ART Y = (3 - 2)/2 x 100 = 50% AP &l 2|
Ques 56. ANS (C) Solution:

fearg:

s a9 = 1 fbu1 = 1000 T

3G IS = 960 UTH

TAWMA & P,

MY % = (F< a9 - 3G dol) / 3G Io) x 100
= (1000 - 960)/960 x 100

= 40/960 x 10

= 25/6 = 4/1/6%

Ques 57. ANS (C) Solution:

SP, = 1215, Q¢ = 19%, §€ 2 = 17.5%

T

Sifrd 4 - @c = fadha ged (SP)
RILYGIR

T 3ifhd Jed x §,

T b AHIR:

= x — (x x 19/100) = SP,

= x x 81/100 = 1215

= x = 1215 x 100/81

= x = 1500

3, afd g2 = 17.5%
= 1500 - 1500 x 17.5/100 = SP,
= SP, = 1500 - 262.5
= SP, = 1237.5
Ques 58. ANS (C) Solution:
U
@=Tﬁxw
1Hiex / Tdve = 18/5 ot / der
B TS = g
T o fedt / der ¥ Hiex / Jdre H gRafdd Ha W
= 72 x 5/18
T = 20 Hiex / A6
=20 x 25
500 Hiex
7 & daTg 500 W B
Ques 59. ANS (D) Solution:
9
NI _ wrh
iZTJ (5)
a1 3T =
_‘- . — 9.
sl {ZIJ‘E carth=2:1

Ques 60. ANS (B) Solution:

fea g,

(8+4-2)x(17-12)x10-89 =7

TRAIBT HIA R,

= (10) x (5) x 10 - 89 = ?

=50 x 10-89 = ?

= 500 - 89 = ?

=? =411

Ques 61. ANS (D) Solution:

ERINCALACIECES

TS BT U TUFRaS At gR v fopam o s g1

23409 =3 x3x3x3x17 x 17

= (3 x3x17)7

= 153°

23409 BT A 153 B

Ques 62. ANS (C) Solution:

fear g,

%77, 414 3R 837 & UHGA BI 12 F fauTd favar smar
|

IOTT:

W UY & 51 TP J-T P HISIh I fHTRTT B & 3R

I YIS GRT U Tt /AWw el o UG S a9 ddb

fIUTRSIT B Y8d € o9 dp fob gH ST HISTe I BIdt T3

T 7 81 9N, 98 I-T §ART IR ¢

MY, 177, 414 3R 837 & UG Bl 12 I fAUIRId 3

R HH: 9, 6 3R 9 U BId &

3§ JH] UGB = 9 x 6 x 9

12 Y YT &4 IR §H 3 39 UPR forg Ihd & 54 x 9/12

U AYHA 6 x 9




Y 12 Y faUIiTd ®1 TR I8 81T 54/12.

BA ST & fb AUhd 6 §: 3R I8 IR B
Give,

The product of 177, 414 & 837 divided by 12.
Calculation:

In such a question we divide each number by the divisor

and keep dividing the product of all remainders thus
found by the same divisor till we get a number smaller
than that divisor, that number is our answer.

So the remainders of 177, 414 & 837 when divided by 12

are 9, 6 & 9 respectively.
Now their product = 9x 6 x 9
When divided by 12 we can write it as 54 x 9/12
Again the remainders are 6 x 9
On division of it by 12 it will be 54/12.
We see that the remainder is 6; and this is the answer.
Ques 63. ANS (B) Solution:
fea g,
12 fenfeat & sid ao H gf = fu
SIREAC RO
T = 3B S! BT T/ HHS| B G
PA TG g IO = x 12 = 4 fbur
fUed Raamst w1 asq = 55 fun
I, T RIATS! T ao = 55 + 4 = 59 fbar
0 st &1 awH 59 fFan gl
Ques 64. ANS (B) Solution:
fear g,
fdd &t Tl = 11 Tl der
YRT DI T = 5/6 Hiey/Ade
= 36 fopeit
o &0 STa &,
qqy = g/
fopeil/der x 5/18 = Hie/ADHS
IO
YRT 1 IR fobeil/eT | = 5/6 x 18/5

TqHY = 36/8 = 4.5 °¢ AT 4 °¢ 30 fiFe

I8 YRT & Ufdpd 36 B B g A dRAH 4 € 30
e &1 39T o

Ques 65. ANS (C) Solution:

fears,

@ -b%+(a+b)=25

Ugad

@ -b% =(a-b)a+b)

@-b%) < (@a+b)=25

> ((@-b)a+b)+(@a+b)=25

>a-b=25

Ques 66. ANS (D) Solution:

Ugd §d- J g = 01 &1 3/4

G FcH B g¥ = o &1 5/8

feam mman B o v frsor A ger 2:3 & Srurd A g
T UG R : QORI Y0 = 10 x

DA AT AT = 1 + x

TR T 7 Y + X §a- § gy = ufoe fiygor
Q¥

{(Gx)}+{F) xz}={Q+a)x(F)}= 1+ 5=+
= 3/4-2/3 = (2x)/3 - (5x)/8

= (9 -8)/12 = (16x - 15x)/24

=>x=2

S TR JUTd = 1:2

Ques 67. ANS (B) Solution:

fear g

JWR U & BH = 9%

e YR o BH = 14%

3fiy SMUTd = IR U & B : A U & BH
=9:14

Given:

Students from UP = 9%

Students from MP = 14%

Required Ratio = Students from UP : Students from MP
=9:14

Ques 68. ANS (C) Solution:

Given:
cosec f4+sinf __ 21
cosecf—sinf — 15
JHTIRTIUTA T SUART A R,
Using componendo & dividendo
cosec f-+sin 4+ cosecf—sinf _ 21415
cosec f-sin #—cosec f4sinf — 2115
_, cosecfl _ 36 __ g
7 snf — 6 6

= cosec2f = 6
A B,
We know that,

1 + cot?8 = cosec?f

cot?’0=6-1=5

tanf = 1:
NG

Ques 69. ANS (B) Solution:
AT 3fiy 7 x B

> X — sin 10° sin 40° sin 50

> X = 55in 10° (2sin 40°sin 50°)
> ¢ = 58in 10° [cos (40° — 50°) — cos (40" + 50°)]
> T T',Si]llll [cos 10° — cos 907
> x = 38in10°cos10° [ cos 90° = 0]
> T = 5 (2sin 10° cos 10°)

= %sin?ll (.- 2sin fcos @ = sin 20)
3aRIH | Y4 sin 20° B
Ques 70. ANS (D) Solution:

fear T,




20 I TS, 15 TH AT SR 10 AH FTs 9T Th

gmww”wﬁwﬁaﬁwmﬁmw
|

TATH BT AT = TS x ST x A

SMIATHR Sl BT AT = 20 x 15 x 10 = 3000 JHY

3d, T P GATH HHT WA RAHR Al § He S,

T Th I deldl b dd THT PR BT gidl &
SHfYHAIT YHT T 1 YSITl = (20, 15, 10) BT HgTH
JHYIAS = 5 JHT

U e 99 BT 3Ta = (5)3 = 125 JHI13

Y &1 YAqH JYT WSAT = 3000/125 = 24

Ques 71. ANS (B) Solution:

faur B, U Pl 3R Usb A B B1Hd 600 TUT R 3R T
ST 3R U A B 1 P o U 7: 5 B
THT UH H B! DA a AR TH A & HIAd b 5
~alb=17/5

= a=7b/5

3|, a+b =600

= (7b/5 + b) = 600

= 12b = 3000

b = 250 UT

a = 350 ¥4JU

Ques 72. ANS (B) Solution:

Iy 1996 T HYT BT AT = 272 TS TTY
Tu 1996 H AT HT fafd J 3UTd = 0.85
T 1996 B fAafd = x HRIS 3Ud

dd,

272/x = 0.85

= x = 272/0.85

= x =320

¥ 1996 ¥ fafd = 320 RIS v

Ques 73. ANS (B) Solution:

fea g,

I BT 3T = AP DI 3T + 60%

RILYGIR
AT {6 A9 BT 31 = 100
I DI 3T = 100 + 100 BT 60% = 160
ATp BT M IH BT A I HAG = 160 - 100 = 60
e BT 3T I BT 31 Ufdd FH @ = 60/160 x 100
=37.5%
Ques 74. ANS (B) Solution:
fears,
HCL & $d SHART = 120 + 180 +20 + 75
= 395
HCL & $d Ta.3MR. HHART = 20
3MERIH % = 20/395 x 100
= 5.06%
Ques 75. ANS (B) Solution:
A

f&a 74T B, tanA = 4/3 = BC/AB
HT 3 BC = 4x 3R AB = 3x
TISYNTRY UG
AC® = AB® + BC’
= 25% = (3x)° + (4x)°
= 625 = 9" + 16x°
= 625 = 25x°
=x° =25
=>x=5
BC 1 TS = 4X = 4 x 5 = 20 AT
Ques 76. ANS (D) Solution:
T, T gegaedt e o gfawerd off|
YUOEatsq Yegaed! 3al U, U9, gegaed! o

FTed I BT TITA HHT 91T & SR YR Bt 98 Tt
ugal MR I T Hafed AR Seidhul HRd 3@ J
T T 77| 3 M §U T, W Yol 3f1e oY
AN & o BTw! B &
M. S. Subbulakshmi was well-known in singing.
'Madurai Shanmukhavadivu Subbulakshmi' or M.S.
Subbulakshmi is considered synonymous with Carnatic
music and was the first singer in India to be awarded the
highest civilian award of Bharat Ratna. Her sung songs,
especially bhajans, are still very popular among the
people.
Ques 77. ANS (C) Solution:
fferersfiiT eeie go uRefia guenzur &, S SudiTafst
B HFYR T R TSR H537 B /Al <ar g
CHara U UisieT fSarsd ¢ Off Widbe H 3Q s 9 &1
I &, o T SR &1 $fR-1 7™ & THHE &
ﬁ%aﬁﬁaﬁ%ﬁ%mmwwﬁ%ﬁ%

I
SIRE® TR-JPR B Th IUPRUI § ol P faxmefl #
AT o el g |
HCR Il GHM FETT b1 W U Bfd Ht 71fd &1 Fdfa
H & foe IuaT foparn Sl 5|
TR U A= it § e g1 vl ot g8 areht e
ferm anfe &1 f$foiea wu & saan S 5|
A digitizing tablet is a peripheral device that allows users
to draw on a computer screen.
A trackball is a pointing device composed of a ball held
in a socket, which has a sensor to detect the ball's
rotation about two axes, similar to an up-and-down
mouse.
A joystick is a lever-type device that can be rotated in
multiple directions.
Used to control the movement of an image on a
computer or similar display screen.
Scanner is a machine by which any printed material like
picture etc. is converted into digital form.
Ques 78. ANS (C) Solution:
forsTefl, TdH oIk Fdieuita SHorl Ht o Rig = 7 fowh
# ! BreixH BI3H | "HRd SHull RIGR FHe 2023'
H1 Igured fhan| &l feadlia RReR g &1 3539 < |
TH &M 3R gTegio URRUfAS! a3 & faw iR &




Hiod B 31 A FHTdr SR I=-way o= fe,
HIESYH, Rrenfag 3R e ¢, Sraxiem 3R ufieor
TR R g § YT A 38 &
Minister of Power, New and Renewable Energy RK Singh
inaugurated the 'India Energy Summit 2023" at FICCI
Federation House in New Delhi. The two-day summit
aims to focus on the development of an efficient green
hydrogen ecosystem in the country. Policy makers and
high-level dignitaries, senior government functionaries,
financial institutions, project developers, manufacturers,
user industries, technology companies, start-ups,
foundations, academicians and think tanks, research and
training institutes are participating in the summit.
Ques 79. ANS (A) Solution:
TG 23 YR T &1 T 3T § | IHI 3 o
TR 2l ey, Tt et SR STeT- et 31T AMPHEX
M g
The TROPEX 23 is an exercise of the Indian Navy. The
overall exercise construct included Coastal Defence
exercise Sea Vigil and the Amphibious Exercise AMPHEX.
Ques 80. ANS (B) Solution:
uﬂ—cﬂu LS Pedld HSRA (&né—q%w‘l;rqa) = gar &
®Q1I$S @Cdlﬂ $C<0bIICFICQ1 hY 2023" PT
&Wa‘lﬁl?aﬂ%rﬁ HIBMIS & JASCS Wiey dex H favar
SIRATT. I8 gAfe 26 RidaR ¥ 2 S/ager & o9 i
1, ISeIfhe™, FHorfoha™, HINAT TURTSH 3R YR P
The Indian Blind Football Federation (IBFF) said that the
'IBSA Blind Football Intercontinental Cup 2023" will be
organized at the United Sports Center in Kakkanad in
Kochi. This tournament will be held between 26
September and 2 October. Teams from Costa Rica, Chile,
Poland, Romania, Greece, Egypt, Uzbekistan, Kazakhstan,
Republic of Korea and India will participate in it.
Ques 81. ANS (A) Solution:
HR Bt AU B & Aot & Fifera fpar S @
Tt 3R ATeafiie AR | T HER) e @ g
TR BIcht 8 ST aaa § WA STeT I8dl § | $aex &t
fadiiae AHRY TgTa® AHRI gidt 5, 96! dd 99d a a1
R U FAfed g aTell Sel 3@l Sfrdl & |
The memory of a computer is classified in two categories
primary and secondary memory. Primary memory is the
main memory of the computer where the currently
processing data resides. The secondary memory of the
computer is auxiliary memory where the data that has to
be stored for a long time or permanently, is kept.
Ques 82. ANS (C) Solution:
NI AR T TgyS T TGN HT Y A & |
M SrUfRTy oet: B¢ SR 59 ﬁﬂﬁ é? T ﬁ“@r ElG
IR geuTd I, afmTor I R e oIk feesle,

Tgee, TRrE, U u1g SR Fdfad 3 onfe | 99
BT YT BT IS HRd gl

Industrial waste water pollutant is the major source of
marine pollution.

Industrial Wastewater: Small and large-scale industries
such as iron and steel industries, manufacturing
industries such as soap and detergent, chemical plants,
food processing industries, emit inorganic pollutants like
chlorides, sulphates, nitrates, acids, heavy metals, and
suspended solids, etc.

Ques 83. ANS (C) Solution:

e 3 BICEN BI & TN FUR YUT 3R IR &
e Hid FIferer del- et Trdrect B I T9ed &
I UTT & e BId 3R ACHHR &1 I HRd Bt
ORI HUTS TR = BT SMYUR THIHR TG BT 3R
D! TS B YR Sita #fiR &= & fafdy =0 3R
o o fAefa Bl

Kumara Sambhav and Raghuvamsha are two works of
the great poet Kalidasa.

The great poet Kalidasa was a great Sanskrit poet and
dramatist of the Gupta Empire in the third-fourth
century. He composed works on the basis of mythology
and philosophy of India and in his works various forms
and basic elements of Indian life and philosophy are
represented.

Ques 84. ANS (B) Solution:

drs HraTerd gRT R YAawT &1 J3M1d &1 15 2|
Rt a7 & ST & QI CREER
S STl & | 8 STl SR 31 3% $iear Ut & d
PR il 3R e F 3 I ar J g1 arel Ioied
T P & N T g o

dlS pHaTfery 3 dable fofex diuw, fafer fie &
fd= & T5d, 1786 H RIRH SEIewd WUITE! &1 UxdTd 3@l
gg 1793 T Wt deiawd HfAaH, 1793 §RT AR g
Permanent Settlement was introduced by Lord
Cornwallis.

Permanent Settlement is also known as Permanent
Settlement of Bengal. It was an agreement between
Bengali Landlords and East India Company to fix
revenues to be raised from the agriculture activity and
from other productivity in the country.

Lord Cornwallis under directions from the then British
PM, William Pitt, proposed the Permanent Settlement
system in 1786. This came into effect in 1793, by the
Permanent Settlement Act of 1793.

Ques 85. ANS (B) Solution:

UG IS 6T I AaHITHS R faggdiamu g

g Aol RYdeR 2017 H QX &=1 § UrHior &1 7 gt =R
R <ret & # Tt TR uRaR @ sifem -t FAfaefac
IR foSTell HaRM UaM ddb FaHIite o [aggdiasor
T R & 3= U Y& $I 718 At | T8 TISHT 16,320
mm%qﬁm?:%mug&?aﬁﬂé ot

The Saubhagya Scheme aims at universal household
electrification.




The scheme was launched in September 2017 with an
aim to achieve universal household electrification by
providing last-mile connectivity and electricity
connections to all households in rural areas and all poor
households in urban areas across the country. The
scheme was started with an outlay of 16,320 crore
rupees.

Ques 86. ANS (A) Solution:

RIAHSA BT SHfYHaH TexTs URI TR H IS ot |
HIRGAT ¢4 THg 1 Yo TTex1 w1 & 37 gedl R g
TERT I THIHAT 11,035 HIER (36,201 HIT) eI 5|
HIRATT ¢ BT HaY g1 fdg AcioR S g | I8 GIar
TRITd HETITR H fYd 3 $iR 3ufe iR &t
SHIH T TTERTS URNd HETANR H UT§ Siiel! |

The maximum depth of Lithosphere is found in the
Pacific Ocean.

The Mariana Trench is the deepest part of the ocean and
the deepest location on Earth about 11,035 meters
(36,201 feet) deep. The deepest point of Mariana Trench
is Challenger Deep. It is located in the South Pacific
Ocean and so the maximum depth of Lithosphere is
found in the Pacific Ocean.

Ques 87. ANS (B) Solution:

SR B3 Uelf 3R et gRT FAffa g1 & ok 39
UTferR Ui X698 &1 - U g | 30 Y U | T8
TP ST IR R 8 | Ui IaR, R HRd &R,
A, SESIT X6R, BTSN T HI3cdid i Hgl A €,
T 6 Y& A Iare faan mar o1, § Sree A
TSI & TR B1d &, 3 PIa-db ARTDI b T
IfSAt & 91y, ur ot

31d: faed (B) TR B |

Isoprene is produced by many plants and animals and its
polymers are the main component of natural rubber. In
its pure form, it is a colorless volatile liquid. Natural
rubber, also called India rubber, latex, Amazonian rubber,
caucho or caoutchoucg, as initially produced, consists of
polymers of the organic compound isoprene, with minor
impurities of other organic compounds, plus water.
Ques 88. ANS (B) Solution:

AU BT 3G 169 THG D! fob ! Iy H Usb uRWG
T T U PR BT AR a1 § Tl o Bt fay™
THT I THTE o T8 T URdTa U1 et 5

T el fAUHIHT Bt o Tewadl T gHd R faurau &
U 3R AIGH B3 aTel G&™l & HH Y HH al-fdeTs
§gud ¥ g1 A1

YRA # U fgua-a yumehl § A 9 & &l 9a|
g TR WR, b & FHDE fIUM THT gl 8 3R
ST & TG [ uRee gid |

3G 169 XAl B faum ufkwel & fufor sik I=ger &1
UGyt ol 5|

Article 169 of the Constitution allows Parliament to
either create or abolish a Council in a state “if the
Legislative Assembly of the State passes a resolution to
that effect.

The resolution must be a majority of the total
membership of the Assembly and by a majority of not
less than two-thirds of the members of the Assembly
present and voting.

India has a bicameral system i.e., two Houses of
Parliament.

At the state level, the equivalent of the Lok Sabha is the
Vidhan Sabha or Legislative Assembly and that of the
Rajya Sabha is the Vidhan Parishad or Legislative Council.
Article 169 provides for the creation and abolition of
legislative councils in states.

Ques 89. ANS (A) Solution:

YR ¥ S8R 3ARST T g1 1 gavT Jay Je1 Hicx
T TR 8 ST 185 Uk W el 3T 7. SARBT & .
ST & S T HidR 1A WHRTA 6 JHitd B,
AR & = SRl H WHFRI 3feRum Hiex &1 Fafor
Te 2015 H Y& g3 o b 31d 2023 BRI G 8. T8
ST BT GERT Ty 871 HfeR § SR SHHT 3guTe 8
3fagaR 2023 D fban S

The world's second largest temple outside India has
been built in America, which is spread over 185 acres.
The temple built in New Jersey, America is dedicated to
Lord Swaminarayan. The construction of Swaminarayan
Akshardham Temple in New Jersey, America started in
the year 2015 which is now completed in 2023. It is the
second largest temple in the world and will be
inaugurated on 8 October 2023

Ques 90. ANS (C) Solution:

Hslg AU G (21 A 1887 - 25 SHaRT 1954), TH g
1Y YT, Th HRAIG AraTe] shifddR], deudt
HTIPl SR Ao RIGidPR U, Y g1 20T wrefreal #
T Ui it 4t U

1 Hfcger=T IrIaTe! Urét SR HRrd |rarel aret
(@RI G TE) & TS Y|

qg IrgaTe! RIS R w & 9 & Tearht & S
o gAY o )

Manabendra Nath Roy (21 March 1887 — 25 January
1954), born Narendra Nath Bhattacharya, was an Indian
Communist revolutionary, radical activist, and political
theorist, as well as a noted philosopher in the 20th
century.

Roy was a founder of the Mexican Communist Party and
the Communist Party of India (Tashkent group).

He was also a delegate to congresses of the Communist
International and Russia's aide to China.

Ques 91. ANS (D) Solution:

RISTHHT & FUHHIUTT gRA TR Rig 27-29 RidsR b
Shgruat § 9d fore T¥Ea T (BRICS Parliamentary
Forum) H TG & U&h UfAMIIHSH &1 Aga Bl SqHI
T By ey 3R 3Pl TRiaR &) sgM & g
IGEIT Feifd BT IUTN FHRAT 8. Ugdl foa Jadig v 8
S 2015 &1 ARG! T =9 B! Sfeqefd § ford foxam man
Y. PIRERIY ISR & R Rygid & SMUR IR e
3BT = SIaRy 2023 H foio FoRAARM U5l 1|




Rajya Sabha Deputy Chairman Harivansh Narayan Singh
will lead a delegation of Parliament to the 9th BRICS
Parliamentary Forum in Johannesburg from 27-29
September. Its main focus is to use parliamentary
diplomacy to enhance BRICS and African partnerships.
The first BRICS Parliamentary Forum was held under the
chairmanship of Russia in Moscow on 8 June 2015. South
Africa assumed the BRICS Chairmanship in January 2023,
based on the governance principle of chairmanship
rotation.

Ques 92. ANS (D) Solution:

YR Sfer 8 W 1 &1 YR 38T &1 Wiof|
HIe o1 S| ¢ Hilfs Ig I faF, Uiy, gofaiy,
T, 1TV, Fifeed, T, 0T, T foqiH, o SR axiq |
T U] & T ST Sirell 81 39 g1 3 féfg Gepfa
& QI Il &l feheedipd (b dT | BTd A PIician,

S wfaf¥a @l 1 o fean it 9t SRu I 5

The age of Guptas in Indian History is described as the
Golden Age of Indian History as the age is known for
extensive achievements in science, technology,
engineering, art, dialectic, literature, logic, mathematics,
astronomy, religion, and philosophy. This age crystallized
the common elements of Hindu Culture. The age gave
birth to eminent people like Kalidasa, Varahmihira,
Vatsayana, AryaBhatta, Vishnu Sharma, Gautama,
Patanjali etc. Since all the reasons are valid.

Ques 93. ANS (C) Solution:

1934 % HRAIG ¥od s iffam & AR, ford s Fg
WHR P AT IR SR Ao~ B Yt Qi+ ¢ |
RIS TWHR B 3R F Tt e, voor, fae=h gar ek
ST AT BT HHTA &1 H5 PR SARSTSATS & U
U A R HF ST et 5

As per the Reserve Bank of India Act of 1934, the Reserve
Bank is both the banker and public debt manager for the
Union government.

The RBI handles all the money, remittances, foreign
exchange, and banking transactions on behalf of the
Government. The Union government also deposits its
cash balance with the RBI.

Ques 94. ANS (D) Solution:

RISE DT DI g 5ol IR SLall, oIt STl & Piersit
P! Qe R aTdl IR & AR TR SN g

A§< B o Fafdreads iR siary] fag & Jwime! & §
TH | SR fag & T TS & U F, Jac i
(1843-1910) = gi-am WR ¥ URIfG U 1, o 1882 o
TERDHA IR B SAP! @iol ! yrad! mia o, 5 e
1T 3R 1884 H goll aRyery, fafsrdl PIeik 1 HRU |

The world knows Robert Koch as a man who discovered
the germs of diseases like cholera and TB.

Robert Koch was a German physician and one of the
founders of bacteriology. As a founder of bacteriology,
Robert Koch (1843-1910) achieved worldwide fame,
including in 1882 acknowledgment of his discovery of

the tubercle bacillus, which caused tuberculosis, and in
1884 the cholera bacillus, Vibrio cholerae .

Ques 95. ANS (C) Solution:

HTERH 3T fofet | YT T[ORTd BT SHPIeT Md URA Bl
EENINSIEESRIEERIRI

eSS o 3 2015 # oo f$fred faas Ueiae
& qEd SHPIC Md I MG fora IR f$fied aaie
S{OUIPR BRI 1 |

i Y et snfreies dewse 3, ), oieht of Torrd
yTeT3ft § 100% fawiig @R SR AR i faum g |
feforea gfear &t YEand wurE Rg W 7 1 s
2015 31 B |

Akodara village of Gujarat situated in Sabarkantha
district became the first digital village of India.

ICICI Bank in 2015 under its Digital Village Project
adopted Akodara village and made cashless by adopting
digital technology.

The village has its own official website, has 100%
financial rate and mobile banking facilities in Hindi,
English and Gujarati languages.

Digital India was launched by Prime Minister Narendra
Modi on 1 July 2015.

Hence, the correct option is (C).

Ques 96. ANS (C) Solution:

H% PR 7 ARANSATS P ST TaR TH ISR 79 HT
HTIPTA Ueb el b [oTT IgT e 8. SR X1 BT SATAl
HTIBTA 3T T 9 3fageR J Y= SN, 3 Ugd 98
SRETSHTS b PRIBRI MG Y. I7d I 1984 T §1
RIS J TS §U . AT 3 S fayfaeraa I srfura
gw 3R oo TR I & AdH IR & UeTs &t
The central government has extended the tenure of RBI
Deputy Governor M Rajeshwar Rao by one year.
Rajeshwar Rao's next term will start from October 9 this
year. Before this he was the Executive Director of RBI.
Rao has been associated with RBI since 1984. Rao has
completed his graduation in Economics and post
graduation in Business Administration from Cochin
University.

Ques 97. ANS (A) Solution:

& FHAT IGHTY g A IR U & o # fged TR
a9 IR URd @? fdd-2023 WERF (Bharat Drone Shakti-
2023 exhibition) T IgdTe &, 39 T G4 = Pt
ASTEHT YR IRy BT 3R S1F BT 3T Sfgar R
3T ST 36T &. 39 3fa¥R IR Ugd C-295 MW iaIe
TR &1 HI YR arge=1 | =i far T YRad
IIg T 1 BT &1 H S7UHT Ugar Ut -295 faHT Ured gaiT,
Sl U HgaqUl Hidl &1 URR 31 I8 U 75 il ok
TReY Sy e WY & &9 21,935 PRI U & A P
1 o 7, o TR &) 9Tt Ul gwmer fhu e 3
Defense Minister Rajnath Singh inaugurated the Bharat
Drone Shakti-2023 exhibition at Hindon Air Base in
Ghaziabad, Uttar Pradesh. This mega drone show is
being hosted by the Indian Air Force and Drone




Federation of India. On this occasion, the first C-295 MW
transport aircraft was also inducted into the Indian Air
Force. The Indian Air Force recently received its first C-
295 aircraft, marking a significant milestone. The
acquisition follows the Rs 21,935 crore deal between
New Delhi and Airbus Defense and Space, which was
signed two years ago.

Ques 98. ANS (B) Solution:

WS FY Y, AU Gab USR &1 U6 fow 6
AT Gakh TSR & Teb QT &ilch gRT TS dl Teh
FEYfH &F B 1 395 RRR 1 SaTs 4,000 ¥ 6,000 HIE
(1,220 ¥ 1,830 HeR) TP & | MHGUTA HRA P Gad TSR
ISR UBIfedl ¥ 3T qd § Herad a1 RIAnT UeR dd
T gan gl

Structurally, Meghalaya is a part of Deccan Plateau.
Meghalaya is an upland area formed by a detached
block of the Deccan plateau. Its summits vary in
elevation from 4,000 to 6,000 feet (1,220 to 1,830
metres). The Deccan Plateau of peninsular India extends
further east beyond the Rajmahal hills to Meghalaya or
the Shillong plateau.

Ques 99. ANS (C) Solution:

g1 o1 oty o HRU TP TWRR fapd TA DI geH &
TG 30 o HTHR 3R HTHR B b J YT Bl &, 3
YATRIAT B8l ST g | THAIdT 01 & gRT uerd &1 98
Tufty &, o fagd 90 & g & a1e U8 3o Jd
THR 3R MHR B! T: U el BT g

3 fasped () WEI B |

The property of matter because of which a body tends to
regain its original shape and size after the deforming
force is removed is called its elasticity. Plasticity is that
property of matter by virtue of which it does not regain
its original shape and size after the removal of
deforming force.
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The Central Information Commission (CIC) falls under the
Ministry of Personnel.
The Central Information Commission (CIC) is a statutory
body, set up under the Right to Information Act in 2005.
The Commission includes one Chief Information
Commissioner and not more than 10 information
commissioners who are appointed by the President of
India.
The present CIC of India as of June 2020 is Shri Y K Sinha
Prime Minister, Shri Narendra Modi is the present head
of the Ministry of Personnel.




